
P5755

www.fi sher-price.co.uk

IMPORTANT! 
KEEP INSTRUCTIONS 

FOR FUTURE REFERENCE.

Download from Www.Somanuals.com. All Manuals Search And Download.



2

Prevent serious injury or death from 
falls or sliding out:
•   The child should at all times wear a 

safety harness correctly fitted and 
adjusted. The tray is not designed to 
hold the child in the chair.

•   It is recommended that only children 
capable of sitting upright unassisted use 
the high chair in the upright position.

•   Always keep child in view while using 
the high chair.

•   Never leave child unattended.
•   Do not use the high chair unless all 

components are correctly fitted and 
adjusted.

Prevent injury from burns: Do not place 
this high chair near open fires or any 
hot surfaces.  

 WARNING

Consumer Information

IMPORTANT! Place the high chair on a level, stable surface away 
from electrical flexes. Be sure to keep electrical flexes out of 
child's reach.
•  Please read these instructions before assembly and use of 

this product.
• Adult assembly is required.
• Tool needed for assembly: Phillips Screwdriver (not included).
• Product features and decorations may vary from the photograph.

Download from Www.Somanuals.com. All Manuals Search And Download.



3

2 FramesPad Seat Bottom Seat Back

Front BaseBack Base

Footrest

2 Seat Bottom Tubes

Hinge Rod

Food Tray Base Tray

Note: Tighten or loosen all screws with a Phillips screwdriver. Do not over-tighten the screws.

#8 x 1,9 cm Screws – 8 #10 x 2,2 cm Black Screw – 7

Shown Actual Size

Assembled Parts

 CAUTION

This package contains small parts in its unassembled state. Adult assembly is required.

Download from Www.Somanuals.com. All Manuals Search And Download.



4

IMPORTANT! Before assembly and each use, inspect this product 
for damaged hardware, loose joints, missing parts or sharp edges. 
DO NOT use if any parts are missing or broken. Contact Fisher-Price® 
for replacement parts and instructions if needed. Never substitute parts.

Footrest

Seat Bottom 

• Place the seat bottom face down on a flat surface.
• At an angle, fit the footrest on the seat bottom, as shown.

Seat Bottom Tubes

•  Slide a seat bottom tube through each set of plastic rings on the 
seat bottom.

Plastic Rings

Plastic Rings

Assembly

1

2

•  Align the holes in the plastic rings and the seat bottom tubes.
•  Insert a #8 x 1,9 cm screw through each plastic ring and into 

the seat bottom tubes, as shown. Tighten the screws. This may 
require extra force.

•  Push the seat bottom tubes back and forth to be sure they are 
secured to the seat bottom. If the seat bottom tubes move, 
you have probably not fastened them properly. Remove the 
screws and check to be sure the screw holes in the seat bottom 
tubes and seat bottom plastic rings are aligned. Replace and 
tighten the screws.

3

Download from Www.Somanuals.com. All Manuals Search And Download.



5

Insert Screws Here

•  Insert two #10 x 2,2 cm black screws through the footrest and 
into the seat bottom. Tighten the screws. This may require 
extra force.

Assembly

4

Seat Back Pin

• Turn the seat bottom assembly upright.
•  Fit the seat back pins into the slots in the top side of the seat 

bottom assembly.

Slot

Seat Bottom Assembly

Slot

5

• Turn the seat assembly face down.
•  Insert the hinge rod through the hinge on the seat back and seat 

bottom, as shown.
•  Insert a #10 x 2,2 cm black screw into the hinge rod. Tighten 

the screw.
•  Set the seat assembly aside for Assembly step 9.

Hinge

Hinge Rod

6

Download from Www.Somanuals.com. All Manuals Search And Download.



6

•  Pull the frame leg out on each frame to open. Make sure it 
"clicks" into place.

•  Position a frame so that the decorated side is outward.
•  Fit the end of a base into the back leg of a frame.
• Fit a screw retainer over the hole in the back leg, as shown.
•  Insert a #10 x 2,2 cm black screw through the screw retainer and 

back leg. Tighten the screw.
•  Repeat this procedure to fasten the other frame back leg to the 

other side of the base.
Hint: The #10 x 2,2 cm black screws may have been assembled to 
the screw retainers.

Frame Leg

Frame Decorated Side

Frame Back Legs

Screw Retainers

Base

7

Seat Assembly

• Fit the seat assembly between the frames.
•  Insert the seat bottom tubes into the sockets in each seat 

height adjuster.
Hints:
•  Be sure the seat height adjusters are in the same position 

(position 4).
•  You may need to push the frames apart slightly to fit the seat 

bottom tubes into the seat height adjuster sockets.

SocketsSockets

Seat Bottom TubesSeat Bottom Tubes

Seat Height Adjusters

Position 4

Press Lever

•  While pressing the levers on the seat height adjusters, lift them to 
position 4 on the frame front legs, as shown.

8

9

Assembly

Download from Www.Somanuals.com. All Manuals Search And Download.



7

PUSH

Seat Bottom Tube Ends

PUSH

Base

• Fit the frame front legs onto the remaining base.
• Fit a screw retainer over a hole in the front leg.
•  Insert a #10 x 2,2 cm black screw through the screw retainer 

and front leg. Tighten the screw.
•  Repeat this procedure to secure the other end of the base with 

the remaining screw retainer and #10 x 2,2 cm black screw.
Hint: The #10 x 2,2 cm black screws may have been assembled to 
the screw retainers.

Screw Retainers

Assembly

10

•  Push each seat height adjuster to be sure they are completely on 
the seat bottom tubes.

•  Insert a #8 x 1,9 cm screw through each seat height adjuster and 
the ends of the seat bottom tube. Tighten the screws. This may 
require extra force.

11

Seat Height Adjuster

•  Push each seat height adjuster to be sure they are completely on 
the seat bottom tubes.

•  Insert a #8 x 1,9 cm screw through each seat height adjuster and 
the ends of the seat bottom tube. Tighten the screws. This may 
require extra force.

Seat Bottom Tube Ends

12

Download from Www.Somanuals.com. All Manuals Search And Download.



8

Assembly

Tabs

Pad

Elastic Loops

Elastic Loops

13

•  Insert the crotch belt through the slot in the pad. Make sure the 
crotch belt is not twisted.

Slot

Crotch Belt 

14

BACK AND BOTTOM VIEW

FRONT VIEW

Hole Hole

• Lift the bottom of the pad. Insert the two elastic loops on the pad 
through the holes in the seat bottom.

• From the back and bottom of the seat, hook the elastic loops to 
the tabs on the seat.

Download from Www.Somanuals.com. All Manuals Search And Download.



9

Bottom Slots

• Lift the top of the pad.
•  Thread the waist/shoulder belts through the bottom slots in the 

back of the seat pad.

Shoulder Portion

•  Fold the top of the pad down.
•  Remove the shoulder portion of the waist/shoulder belts by 

feeding them through the slots in the seat back.

15

16

Assembly

•  Insert the shoulder portion of the shoulder/waist belt through the 
slots in the pad and seat back.

 -  Use the lower shoulder belt slots for a smaller baby.
 - Use the upper shoulder belt slots for a larger baby.
• Fit the top of the pad over the seat back.
•  Fold the bottom edge of the pad under the edge of the seat 

bottom to fasten.

Shoulder PortionUpper Shoulder Belt Slots

Lower Shoulder Belt SlotsLower Shoulder Belt Slots

Belt Ends

•  From behind the seat, be sure the shoulder portion of the waist/
shoulder belts are secure in the seat back slots.

17

18

Download from Www.Somanuals.com. All Manuals Search And Download.



10

Prevent serious injury or death from falls 
or sliding out:
•  The child should at all times wear a safety 

harness correctly fitted and adjusted. 
The tray is not designed to hold the child 
in the chair.

•   Do not use the high chair unless all com-
ponents are correctly fitted and adjusted.

•  Place your child in the seat. Position the crotch belt between 
your child’s legs.

•  Fasten both waist/shoulder belts to each side of the crotch belt. 
Make sure you hear a "click" on both sides.

•  Check to be sure the restraint system is securely attached by 
pulling it away from your child. The restraint system should 
remain attached.

Waist/Shoulder Belt Waist/Shoulder Belt

Crotch Belt Crotch Belt 

Secure Child

1

 WARNING

•  Tighten each waist belt and shoulder belt so that the restraint 
system is snug against your child. Please refer to the next 
section for instructions to tighten the waist belts.

2

TIGHTEN LOOSEN

To tighten the waist belts:
•  Feed the anchored end of the waist belt up through the buckle to 

form a loop A .
• Pull the free end of the waist belt B .
• Repeat this procedure to tighten the other waist belt.
To loosen the waist belts:
•  Feed the free end of the waist belt up through the buckle to form 

a loop A .
•  Enlarge the loop by pulling on the end of the loop toward 

the buckle.
•  Pull the anchored end of the waist belt to shorten the free end of 

the waist belt B .
•  Repeat this procedure to loosen the other waist belt.

Anchored End Anchored End

Free End Free End

Buckle

3

Download from Www.Somanuals.com. All Manuals Search And Download.



11

To change shoulder belt slots:
•  From the back of the high chair, push the shoulder portion of the 

waist/shoulder belts through the seat back slots.

Secure Child

5

Hold Adjuster

Pull Down Strap

Slide Adjuster Down

TIGHTEN LOOSEN

To tighten the shoulder belts: Hold the adjuster and pull the front 
shoulder strap down.
To loosen the shoulder belts: Slide the adjuster down.
Note: After adjusting the restraint system to fit your child, 
make sure you pull on it to be sure it is securely fastened.

4

Shoulder Portion

•  From the front of the high chair, pull the shoulder portion of 
the waist/shoulder belts out and then fit them back through the 
desired shoulder belt slots in the headrest pad, seat pad and the 
seat back.

• Pull on the belts to be sure they are secure in the seat back.

6

Download from Www.Somanuals.com. All Manuals Search And Download.



12

•  While pushing the release bar on the front of the base tray, 
adjust the base tray forward or backward.

Using the Trays

8

Base Tray

ArmrestArmrest

•  Fit the base tray onto the seat armrests. Push down until the 
base tray "snaps" into place.

Hint: Before use, thoroughly wash all parts (the trays) that may 
contact food. The base tray is not dishwasher safe.

7

Prevent serious injury or death from falls 
or sliding out. The child should at all times 
wear a safety harness correctly fitted and 
adjusted. The tray is not designed to hold 
the child in the chair.

 WARNING

Download from Www.Somanuals.com. All Manuals Search And Download.



13

Using the Trays

•  While pushing the release bar on the front of the base tray, 
pull the tray base towards you and remove.

9

• Fit the food tray into the base tray, as shown.
Hint: Before use, thoroughly wash all parts (the trays) that may 
contact food. The food tray is not microwave safe.

Food Tray

Base Tray

10

Download from Www.Somanuals.com. All Manuals Search And Download.



14

Squeeze

Prevent serious injury or death from falls 
or sliding out: It is recommended that only 
children capable of sitting upright unassisted 
use the high chair in the upright position.

Hint: Adjust the seat angle to any of three positions: Upright, 
Semi-Recline or Recline.

Upright
Semi-Recline

Recline

To adjust the seat angle:
•  Squeeze the seat back handle and push the seat back forward or, 

pull it backwards to the desired position.
•  Push the seat back to be sure it is latched in position.

Adjusting the Seat

11

 WARNING
Hint: Adjust the seat height to any of seven positions!

To adjust the seat height:
•  Press the levers on both seat height adjusters and lift or lower 

the seat to the desired height.
•  Make sure both sides of the seat are adjusted to the same height. 

Push the seat bottom to be sure the seat is locked in place.

12

Press Lever

Download from Www.Somanuals.com. All Manuals Search And Download.



15

Storage

Pull Frame Release Latch

•  With the legs all the way open, lower the seat to position 7 
(the lowest position).

•  Pull the frame release latches forward and push the rear legs 
toward the front legs.

13

•  The restraint system, pad, frame, trays and tray toy may be wiped 
clean using a mild cleaning solution and a damp cloth. Do not 
use bleach.

•  The food tray is also top rack dishwasher safe (or use bottom 
rack - without using the drying cycle).

To remove the pad:
•  Remove the elastic loops from the pegs on the back of the seat.
•  From behind the product, squeeze the restraint release tabs and 

remove the restraint system from the peg.
•  From the front of the product, pull to remove the restraint system.
•  Unfasten the pad hooks from the front edge of the seat. 

Lift the top of the pad off of the seat back.
•  To replace the pad: refer to assembly steps 13-17.
IMPORTANT! Never use this product without the restraint system. 
Replace the waist/shoulder belts and crotch belt.

Care

Download from Www.Somanuals.com. All Manuals Search And Download.



Fisher Price, Inc., a subsidiary of Mattel, Inc., East Aurora, NY 14052 U.S.A.
©2008 Mattel, Inc. All Rights Reserved. ® and ™ designate U.S. trademarks of Mattel, Inc.

PRINTED IN CHINA       P5755pr-0726

Great Britain: Vanwall Business Park, Maidenhead SL6 4UB. Helpline: 01628 500303. www.service.mattel.com/uk.
Asia: Mattel East Asia Ltd, Room 1106, South Tower, World Finance Centre, Harbour City, Tsimshatsui, HK, China.
Malaysia: Diimport & Diedarkan Oleh: Mattel SEA Ptd Ltd. (993532-P) Lot 13.5, 13th Floor, Menara Lien Hoe, Persiaran Tropicana Golf 
Country Resort, 47410 PJ. Tel: 03-78803817, Fax: 03-78803867.

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com

http://usermanuals.us
http://www.somanuals.com

http://www.4manuals.cc
http://www.manual-lib.com
http://www.404manual.com
http://www.luxmanual.com

http://aubethermostatmanual.com
Golf course search by state

http://golfingnear.com
Email search by domain

http://emailbydomain.com
Auto manuals search

http://auto.somanuals.com
TV manuals search

http://tv.somanuals.com

http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings false
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 800
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Subsample
  /MonoImageResolution 800
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /FlateEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU (Create PDF documents for approval with images at 150 dpi and high image quality.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


